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Mxl = 1/12 X Wx X Lx® = 1/12 X 530 X 4.00 > = 7.1 kN'm
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Mx2 = 1/18 X Wx X Lx® = 1/18 X 530 X 4.00 > = 4.8 kN'm
30 5 1 s
Myl = 1/24 X W X Lx* = 1/24 X 610 X 4.00 > = 4.1 kN-m
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My2 = 1/36 X W X Lx* = 1/36 X 6.10 X 4.00 > = 28 kN-m
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dt = 4 cm d =15 - 4 = 11 cm j = 7/8 X 11 = 9.625 cm
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dt = 5 cm d =15 - 5 = 10 cm i = 7/8 X 10 = 8.75 cm
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at = M / ft-j = 71 X 100 / 195 9.625 = 3.79 cm®
Blff: D10, D13@200  (  4.95 cm®) ek 0.77 < 1.0 ..OK
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at = M / ft-j = 48 X 100 / 195 9.625 = 2.56 cm’
Bl D10@200 ( 3.55 cm?) Mk 0.72 < 1.0 ..OK
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at = M / ft-j = 41 X 100 / 195 8.75 = 2.41 cm®
Bl D10@200 ( 3.55 cm®) ek 0.68 < 1.0 ..OK
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at = M / ft-j = 28 X 100 / 195 8.75 = 1.65 cm®
Bl D10@200 ( 3.55 cm®) ek 0.46 < 1.0 ..OK
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Q = W-Ix/2 = 6.10 X 4.000 / 2 = 12.2 kN
t = Q/b-j = 122 / 100 9.625 = 0.013 < 0.08 kN/ecm® .. OK
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A-0.7 Wp Lx
to= 002 [ 10.6] [ ST 10000]'LX
A = Ly/Lx = 6400 / 4000 = 1.60
Wp = W-yeet = 610 - 24 X 0.15 = 250 kN/nf
1.60 - 0.7 2.50 4000
' 0.02 [1.60 - 0.6] [1 i 10 10000] 1000
= 119 mm < 150 mm . OK



